Opérations sur Une Droite Graduée (J)

Utlisez la droite graduée pour calculer chaque somme ou différence.

14 + 21 =

0 7 14 21 28 35 42 49 56 63 70 77 84 91 98 105 112 119 126 133 140

76 — 52 =

0 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80

32+4 =

0 4 8 12 16 20 24 28 32 36 40
100 — 90 =

0 10 20 30 40 50 60 70 80 90 100
49 + 21 =

0 7 14 21 28 35 42 49 56 63 70
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Opérations sur Une Droite Graduée (J) Réponses

Utlisez la droite graduée pour calculer chaque somme ou différence.

14421 = _35

AV RN

0 7 14 21 28 35 42 49 56 63 70 77 84 91 98 105 112 119 126 133 140

76 —52 = _24

0 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80

32+4=_36

0 4 8 12 16 20 24 28 32 36 40
100 — 90 = _10

0 10 20 30 40 50 60 70 80 90 100
49+ 21 = _70

0 7 14 21 28 35 12 49 56 63 70
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